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Question Number : 1 Question Id : 9209069315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 11

(A)  According to the rules, nobody (I)  Financially
is allowed in without a ticket

(B} In terms of profit we made, (I} Realistically
the festival was a great
EUCCEES.

(Cy In terms of what we can (III) socially
actually achieve, 80 percent is
probably maximum.

(D) For the good of society this (IV) Officially
legislation will bring
considerable relief

Choose the correct answer from the options given below

(1) (AL, (B)-(I1I), (C)-(T), (D-(IV)
@y (A)-(IV), (B)-(D), (C)-(IM), (D)-(IT)
(3)  (A)(IID, (B)-(IV), (C)-(D), (D)-(IT)
(4)  (AW(I), (B)-(IT), (C)-(IV). (D)-(I1I)

Options :

92090636801. 1
92090636802. 2
92090636803. 3
92090636804. 4

Question Number : 1 Question Id : 9209069315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I :

List 1 List I1
(A} According to the rules, nobody (I) Financially

is allowed in without a ticket

(B) In terms of profit we made, (II) Realistically
the festival was a great
SUCCEES.

(Cy In terms of what we can (III}) socially
actually achieve, 80 percent is
probably maximum.

(D) For the good of society this (IV) Officially
legislation will bring
considerable relief

Choose the correct answer from the options given below :

(1) (A)-(11), (B)-(I1D), (C)-(1), (D)-(IV)
(2) (A)-(IV), (B)-(D), (C)-(II), (D)-(11L)
i3 (A)-(ILL), (B)-(IV), (Cy-(I), (D)-(IL)
(4) (A)-(1), (B)-(II), (C)-(IV), (D)-(11I)

Options :

92090636801. 1
92090636802. 2
92090636803. 3
92090636804. 4

Question Number : 2 Question Id : 9209069316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last 11 :

List 1 List 1T

{A) She is interested in anything (I} following
street children.
(B) his dancing skills, he (II) regarding
put up a decent performance

(C)} The puppy kept him all (IIl) concerning
the way to the market and
back

(D} The Principal has called her (IV) considering
to his chamhber her low
attendance

Choose the correct answer from the options given below :

(1) (A)-(I1), (B)-(I1T), (C)-(IV), (D)-(D)
(2) (A)-(TIT), (B)-(IV), (C)-(T), (D)-(II)
() (A)-(D), (B)-(IT, (C)-(IIT), {D)-(IV)
(4) (A)-(IV), (B)-(I), (C)-(IL), (D)-(LII})

Options :

92090636805. 1
92090636806. 2
92090636807. 3
92090636808. 4

Question Number : 2 Question Id : 9209069316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last 11 :

List 1 List 1T

{A) She is interested in anything (I} following
street children.
(B) his dancing skills, he (II) regarding

put up a decent performance

(C)} The puppy kept him all (IIl) concerning
the way to the market and
back

(D} The Principal has called her (IV) considering
to his chamhber her low
attendance

Choose the correct answer from the options given below :

(1) (A)-(I1), (B)-(I1T), (C)-(IV), (D)-(D)
(2) (A)-(IID), (B)-(IV), (C)-(T), (D)-(IT)
(3 (A0, (By-(I1}, (C)-(HIT), (D)-(TV)
Y (A)-(IV), (B)-(I), (C)-(IL), (D)-(LII})

Options :

92090636805. 1
92090636806. 2
92090636807. 3
92090636808. 4

Question Number : 3 Question Id : 9209069317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spellings of the following words

iA) Accomodation
iB) Accommodation
(i) Committed

i Comitted

Choose the correct answer from the options given below :

(1) (A), (C) only
(2) (B), (C) only
(3) (A), (D) only
(4) (B), (D) only

Options :

92090636809. 1
92090636810. 2
92090636811. 3
92090636812. 4



Question Number : 3 Question Id : 9209069317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct spellings of the following words

iA) Accomodation
iB) Accommodation
(i Committed

i Comitted

Choose the correct answer from the options given below :

(1) {A), (C) only
(2) (B, (C) only
(3 {A), (D) only
i4) (B), (D) only

Options :

92090636809. 1
92090636810. 2
92090636811. 3
92090636812. 4

Question Number : 4 Question Id : 9209069318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choosze the word spelt correctly

(1) Exaggarate (2) Exaggerate

(3 Exeggerete (4) Exeggarate

Options :

92090636813. 1
92090636814. 2
92090636815. 3
92090636816. 4

Question Number : 4 Question Id : 9209069318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the word spelt correctly

(1) Exaggarate (2) Exaggerate
(3) Exeggerete (4) Exeggarate
Options :

92090636813. 1
92090636814. 2
92090636815. 3
92090636816. 4

Question Number : 5 Question Id : 9209069319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the given sentences into a meaningful paragraph.

iA) Deals with fiction, not with fact

B But to please his imagination

() Imaginative composition differes from other forms of writing since it

Dy [tz aim is not to instruct the mind of the reader

Choose the correct answer from the options given below

(1) (C), (B), (A), (D)
(2) (D), (B). (C). (A)
() (C), (A), (D), (B)
(4) (B (A), (D) (O

Options :

92090636817. 1
92090636818. 2
92090636819. 3
92090636820. 4

Question Number : 5 Question Id : 9209069319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the given sentences into a meaningful paragraph.

iA) Deals with fiction, not with fact
(B) But to please his imagination
() Imaginative composition differes from other forms of writing since it

Dy [tz aim is not to instruct the mind of the reader

Choose the correct answer from the options given below

(1)  (C), (B), (A), (D)
(2) (D), (B), (C), (A)
(3) (C), (&), (D, (B)
4y (B), (A), (D), (O)

Options :

92090636817 1
92090636818. 2
92090636819. 3
92090636820. 4

Question Number : 6 Question Id : 9209069320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the given sentences into a meaningful paragraph:

(A) By means of words and leading him to do

(B)  The typical form of this kind of composition is that of a speech or sermon addressed to
an audience.

(i Persuasion is the art of influencing the will of another

Dy Some particular act advocated by the speaker or writer

Choose the correct answer from the options given below

(1) (). (A), (D), (B)
@) (B).(A). (D), (O
(3 (D) (A, (B), ()
4y (D), (B), (A), (O)
Options :
92090636821. 1
92090636822. 2
92090636823. 3
92090636824. 4

Question Number : 6 Question Id : 9209069320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the given sentences into a meaningful paragraph:

(A) By means of words and leading him to do

(B)  The typical form of this kind of composition is that of a speech or sermon addressed to
an audience.

(i Persuasion is the art of influencing the will of another

(D Some particular act advocated by the speaker or writer

Choose the correct answer from the options given below :

(1) (C), (A), (D), (B)
(2) (B, (A, (D) (C)
(3 (D), (A), (B), (C)
4y (D). (B) (A} (C)
Options :
92090636821. 1
92090636822. 2
92090636823. 3
92090636824. 4

Question Number : 7 Question Id : 9209069321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlied part with the correct option:

Had he worked hard for the tournament, he had aced the match.

i1 He was aced {2) He should aced
(3) He should have aced {4) He would have aced

Options :

92090636825. 1
92090636826. 2
92090636827. 3
92090636828. 4

Question Number : 7 Question Id : 9209069321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlied part with the correct option:

Had he worked hard for the tournament, he had aced the match.

(1) He was aced {2) He should aced
i3 He should have aced {4) He would have aced
Options :

92090636825. 1
92090636826. 2
92090636827. 3
92090636828. 4

Question Number : 8 Question Id : 9209069322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined part with the correct option:

The Board is favouring towards signing of the contract with the newly launched technology
company.

(1) Was favourable in (2)  asa favour will

(3 is in favour of {4)  has been favoured to

Options :

92090636829. 1
92090636830. 2
92090636831. 3
92090636832. 4

Question Number : 8 Question Id : 9209069322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined part with the correct option:

The Board is favouring towards signing of the contract with the newly launched technology
company.

(1) Was favourable in (2)  asa favour will

(3) iz 1in favour of {4) has been favoured to

Options :

92090636829. 1
92090636830. 2
92090636831. 3
92090636832. 4

Question Number : 9 Question Id : 9209069323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List | List I1
(A) Are most people (I) of

resistant___advice on healthy

eating

{(B)y Do people in vour country (II) to
generally have an aptitude
__ languages

(C) Do many people embark _ a (1) for
new career in middle age

{Im The fear missing out can (IV) on
help you to remain
enthusiastic

Choose the correct answer from the options given below

(1) (A)-(TI0), (B)-(TV), (C)-(ID), (D)-(T)
(2) (A)-(IT), (B)-(I1T), (C)-(TV), (D)-(1)
(3) (A)-(IV), (B)-(1I), (C)-(I1D), (D)-(1)
{4) (A)-(D), (B)-(IV), (C)-(IT), (D)-(I1I)

Options :

92090636833. 1
92090636834. 2
92090636835. 3
92090636836. 4

Question Number : 9 Question Id : 9209069323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T :

(A)

(B)

(€)

(1)

List I

Are most people (1)
resistant__ advice on healthy
eating

Do people in your country (1)
generally have an aptitude

__ languages

Do many people embark _ a  (I1I)
new career in middle age

The fear missing out can  (IV)
help you to remain
enthusiastic

List 11
of

Choose the correct answer from the options given below

(L
(2)
(3)
(4)

(A)-(IT), (B)-(IV), (C)-(ID), (D)-(T)
(A)-(IT), (B)-(I1T), (C)-(IV), (D)-(D)
(A)-(IV), (B)-(IL), (C)-(I1D), (D)-(1)
{A)-(I), (B)-(IV), (C)-(IT), (D)-(ILT)

Options :

92090636833. 1
92090636834. 2
92090636835. 3
92090636836. 4

Question Number : 10 Question Id : 9209069324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

(A)

(B)
(©)
(D)

List [

(Sentences)

They have proved that the (I}
doctors  were in the

diagnosis of the illness.

The damage was (10
He was ____ after the run. {111y
It's an___ investigation. (IV)

List IT
{Adjectives)

Exhaustive

Exhausted
Megligent
Megligible

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(IID), (B)-(1). (C)-(IV), (D)-(1I)
(A)-(I1), (B)-(1), (C)-(11T), (D)-(IV)
(A)-(D), (B)-(IV), (C)-(11D), (D)-(1T)
(A)-(IOD), (B)-(IV), (C)-(ID), (D)-(T)



Options :

92090636837. 1
92090636838. 2
92090636839. 3
92090636840. 4

Question Number : 10 Question Id : 9209069324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II :

List [ List I1
(Sentences) {Adjectives)
{A) They have proved that the (1) Exhaustive
doctors  were in the
diagnosis of the illness.
(B} The damage was (1) Exhausted
(C) He was ___ after the run. (11T Negligent
(D} It's an__ investigation. (IV) Negligible

Choose the correct answer from the options given below

(1) (A)-(IID), (B)-(L), (C)-(IV), (D)-(ID)
(2) (A, (B)-(D), (C)-(I1I), (D)-(IV)
@ (ARD, (B)-(IV), (O)-(I11), (D)«(1D)
(4) (A, (B)-(IV), (C)-(ID), (D)-(D)

Options :

92090636837. 1
92090636838. 2
92090636839. 3
92090636840. 4

Sub-Section Number : 2
Sub-Section Id : 920906302
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 9209069325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (11 to 14)
Question Label : Comprehension



Read the given passage and answer the questions that follows: (11-14)

Crypto detectives are cleaning up by cracking down

Before a new breed of cryvptocurrency detectives helped bring him down, Ryvan Felton
marketed his crypto scheme with a grandiose promize: He wasz creating “Netflix on the
blockchain "

He called the crypto-themed streaming service FLiK. For a small amount of the popular
digital currency ether, customers could purchase a FLiK token, which would give them access
to shows and movies broadcast on the new platform. Felton described the project as an
“entertainment revolution”™; crypto enthusiasts bought more than $2 million worth of FLIiK
coins. But the streaming business never materialized. Instead, Felton bought a $1.5 million
house, along with $32,000 in diamonds. He spent $180,000 more for a red Ferrari.

When cryptocurrencies hit the mainstream in the 2010s, the technology was widely
viewed as a perfect vehicle for crime. A drug dealer or scamster could transfer large
quantities of money without having a bank to validate the transaction. To early advocates,
crypto was appealing because it promised the secrecy and anonymity of cash, without the
inconvenience of face-to-face exchanges.

That secrecy was an illusion. Crypto transactions are inscribed on a publicly viewable
ledger called a blockchain. To the untrained observer, blockchain records are unintelligible —
a jumble of meaningless letters and numbers. But a growth industry iz dedicated to
deciphering them. At the centre is the New York analytics startup Chainalysis, valued at
£8.6 billion after its latest funding. With tens of millions of dollars in federal contracts,
Chainalysis has build a reputation as one of the crypto industry's leading detectives-a team of
blockchin nlysts that helps the government track transactions.

As IS federal agencies orchestrate an aggressive crack-down on crypto fraud, Chainalysis
has come to occupy an increasingly important position in the industry, The company markets
itself to the government and private companies as a force for good in a badly behaved sector —
a firm whose business is solving crimes and cooperating with public officials. After the FTX
xchangde imploded, its bankruptey lawyers hired Chainalysis to disentangle the web of
entities at the center of Sam Bankman-Fried's empire and track the $400 million in crypto
that a haker stole from FTX. Chainalysis has alzo been conducting some light diplomacy: In
April, it hosted a conference to bring together government officials and the newly chastened
crypto executives who are trving to win back trust. Guests received socks stitched with the
Chainalysis logo.

But the ambassadorial role has put Chainalysis at odds with some of crypto’s passionate
advocates, who envisioned digital money as a private, anonymous financial network. That
clash also reflects a battle for crvpto’s future.

From the government's perspective, Chainalysis is arguably the most trusted company in
the industry-but only because it sells powerful tools aimed at penetrating the veil of secrecy
that made erypto attractive in the first place.

The blockchain is “often-times the key to unlocking a case,” said Jonathan of Chainalysis,
“It's more traceable and more conclusive.”

In late 2020, Felton was indicted on charges that he had used investor's funds to finance
hiz extravagant life-style. He went on trial in Atlanta last summer. Testifving for the
prosecution was Beth Bisbee, a Chainalysis investigator who once worked for the Drug
Enforcement Administration. In 2014, her analyszis of blockchain records helped the DEA
track down an internet drug dealer in Arizona.

Sub questions

Question Number : 11 Question Id : 9209069326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which project did Felton describe as an “entertainment revolution”

Choose your answer from the options given below:

(A) The business of streaming
B Felton bought a dollar 1.5 million house

8] For a small amount of digital currency customers could access shows and movies
broadcast on the new platform.

(D) The creation of Netflix on the blockchain

Choose the correct answer from the options given below :

(1) (A), (B), (C) only
(2) (A), (B) only
(3 (C), (D) only
(4) (B), (D) only

Options :

92090636841. 1
92090636842. 2
92090636843. 3
92090636844. 4

Question Number : 12 Question Id : 9209069327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the phrases in List [ with meanings of List I1 :

List | List I1
(A} Business never materialized (I} Reach more people
{B) Hit the mainstream (Il Gain the confidence of others
OnCe Again
(C} Win back trust (I} Unravelling the real story
behind it

(D)  Penetrating the veil of secrecy  (IV) Not to be successful

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I), (C)-(1D), (D)-(I1L)
(2) (A)-(IID), (B)-(ID), (C)-(D), (D)-(IV)
i) (A)-(D), (B)-(I11), (C)-(IW), (D)-(1I)
(4) (AJ-(1L), (B)-(11D), (C)-(1), (D)-(IV)

Options :
92090636845. 1
92090636846. 2



92090636847. 3
92090636848. 4

Question Number : 13 Question Id : 9209069328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the names with their List [ with List 11 :

List I List I1
(A) RyanFelton (I)  New York analytics startup
{By Chainalysis (Il The man who marketed the
crypto scheme
(C) Sam Bankman Frier (IIT) One of the founder's of
Chainalysis
(D) Jonathan Levin {(IV) The head whose firm lost 400

million dollars

Choose the correct answer from the options given below :

(1) (AN-(D), (B)-(IIT), (C)-(IV), (D)-(I0)
(2)  (A)(II), (B)-(D), (C)-(IID), (D)-(IV)
(3 (A, (B, (C)-(IV), (D)-(I11)
(4) (A)-(11D), (B)-(1D), (C)-(IV), (D)-(I)

Options :

92090636849. 1
92090636850. 2
92090636851. 3
92090636852. 4

Question Number : 14 Question Id : 9209069329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Compare the sentences in List [ with suitable propositions from List 11 :

List 1 List 11
(A} In your country are children (1) for

largely subservient _ their

parents.

By Do most drivers show a total (II) on
dizsregard _ the speed limit

(Cy  What would vou like to see a ({III) over
ban __ in vour country

(D) Do parents usually have a (IV) to
firm comtrol _ their
teenagers.

Choose the correct answer from the options given below :

(1 (A)-(III), (B)-(I), (C)-(IV), (D)-(11)
(2) (A)-(IT), (B)-(11D), (C)-(I), (D)-(IV)
(3 (A1), (B)-(IIT), (C)-(IV), (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(II), (D)-(I11)

Options :

92090636853. 1
92090636854. 2
92090636855. 3
92090636856. 4

Question Id : 9209069325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (11 to 14)
Question Label : Comprehension



Read the given passage and answer the questions that follows: (11-14)

Crypto detectives are cleaning up by cracking down

Before a new breed of cryvptocurrency detectives helped bring him down, Ryvan Felton
marketed his crypto scheme with a grandiose promize: He wasz creating “Netflix on the
blockchain "

He called the crypto-themed streaming service FLiK. For a small amount of the popular
digital currency ether, customers could purchase a FLiK token, which would give them access
to shows and movies broadcast on the new platform. Felton described the project as an
“entertainment revolution”™; crypto enthusiasts bought more than $2 million worth of FLIiK
coins. But the streaming business never materialized. Instead, Felton bought a $1.5 million
house, along with $32,000 in diamonds. He spent $180,000 more for a red Ferrari.

When cryptocurrencies hit the mainstream in the 2010s, the technology was widely
viewed as a perfect vehicle for crime. A drug dealer or scamster could transfer large
quantities of money without having a bank to validate the transaction. To early advocates,
crypto was appealing because it promised the secrecy and anonymity of cash, without the
inconvenience of face-to-face exchanges.

That secrecy was an illusion. Crypto transactions are inscribed on a publicly viewable
ledger called a blockchain. To the untrained observer, blockchain records are unintelligible —
a jumble of meaningless letters and numbers. But a growth industry iz dedicated to
deciphering them. At the centre is the New York analytics startup Chainalysis, valued at
£8.6 billion after its latest funding. With tens of millions of dollars in federal contracts,
Chainalysis has build a reputation as one of the crypto industry's leading detectives-a team of
blockchin nlysts that helps the government track transactions.

As IS federal agencies orchestrate an aggressive crack-down on crypto fraud, Chainalysis
has come to occupy an increasingly important position in the industry, The company markets
itself to the government and private companies as a force for good in a badly behaved sector —
a firm whose business is solving crimes and cooperating with public officials. After the FTX
xchangde imploded, its bankruptey lawyers hired Chainalysis to disentangle the web of
entities at the center of Sam Bankman-Fried's empire and track the $400 million in crypto
that a haker stole from FTX. Chainalysis has alzo been conducting some light diplomacy: In
April, it hosted a conference to bring together government officials and the newly chastened
crypto executives who are trving to win back trust. Guests received socks stitched with the
Chainalysis logo.

But the ambassadorial role has put Chainalysis at odds with some of crypto’s passionate
advocates, who envisioned digital money as a private, anonymous financial network. That
clash also reflects a battle for crvpto’s future.

From the government's perspective, Chainalysis is arguably the most trusted company in
the industry-but only because it sells powerful tools aimed at penetrating the veil of secrecy
that made erypto attractive in the first place.

The blockchain is “often-times the key to unlocking a case,” said Jonathan of Chainalysis,
“It's more traceable and more conclusive.”

In late 2020, Felton was indicted on charges that he had used investor's funds to finance
hiz extravagant life-style. He went on trial in Atlanta last summer. Testifving for the
prosecution was Beth Bisbee, a Chainalysis investigator who once worked for the Drug
Enforcement Administration. In 2014, her analyszis of blockchain records helped the DEA
track down an internet drug dealer in Arizona.

Sub questions

Question Number : 11 Question Id : 9209069326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which project did Felton describe as an “entertainment revolution”

Choose your answer from the options given below:

(A) The business of streaming
B Felton bought a dollar 1.5 million house

8] For a small amount of digital currency customers could access shows and movies
broadcast on the new platform.

(D) The creation of Netflix on the blockchain

Choose the correct answer from the options given below :

(1) (A), (B), (C) only
(2) (A), (B) only
(3 (C), (D) only
(4) (B), (D) only

Options :

92090636841. 1
92090636842. 2
92090636843. 3
92090636844. 4

Question Number : 12 Question Id : 9209069327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the phrases in List [ with meanings of List I1 :

List | List I1
(A} Business never materialized (I} Reach more people
{B) Hit the mainstream (Il Gain the confidence of others
OnCe Again
(C} Win back trust (I} Unravelling the real story
behind it

(D)  Penetrating the veil of secrecy  (IV) Not to be successful

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I), (C)-(1D), (D)-(I1L)
(2) (A)-(IID), (B)-(ID), (C)-(D), (D)-(IV)
i) (A)-(D), (B)-(I11), (C)-(IW), (D)-(1I)
(4) (AJ-(1L), (B)-(11D), (C)-(1), (D)-(IV)

Options :
92090636845. 1
92090636846. 2



92090636847. 3
92090636848. 4

Question Number : 13 Question Id : 9209069328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the names with their List [ with List 11 :

List I List I1
(A) RyanFelton (I)  New York analytics startup
{By Chainalysis (Il The man who marketed the
crypto scheme
(C) Sam Bankman Frier (IIT) One of the founder's of
Chainalysis
(D) Jonathan Levin {(IV) The head whose firm lost 400

million dollars

Choose the correct answer from the options given below :

(1) (AN-(D), (B)-(IIT), (C)-(IV), (D)-(I0)
(2)  (A)(II), (B)-(D), (C)-(IID), (D)-(IV)
(3 (A, (B, (C)-(IV), (D)-(I11)
(4) (A)-(11D), (B)-(1D), (C)-(IV), (D)-(I)

Options :

92090636849. 1
92090636850. 2
92090636851. 3
92090636852. 4

Question Number : 14 Question Id : 9209069329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Compare the sentences in List [ with suitable propositions from List 11 :

(A)

(B)
(€)

(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

List 1

In your country are children
largely subservient _ their
parents.

Do most drivers show a total
dizregard _ the speed limit
What would vou like to see a
ban __ in your country

Do parents usually have a
firm comtrol _ their
teenagers.

i)

(1)

List 11

for

on

(I1D) over

(IV) to

(A)-(III), (B)-(I), (C)-(IV), (D)-(11)
(A)-(1T), (B)-(I1D), (C)-(T), (D-(IV)
(A)-(D), (B)-(IIT), (C)-(IV), (D)-(1I)
(A)-(IV), (B)-(D), (C)-(1T), (D)-(L1I)

Options :

92090636853. 1
92090636854. 2
92090636855. 3
92090636856. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
920906303
Yes

null

Question Number : 15 Question Id : 9209069330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks in the sentences in List | with the correct form of the adjective from List 11 -

(A)
(B)
(C)
(D)

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

List I
It's in the __ chapter.
Do we have __ proof?

He has a enthusiasm.

Her behaviour is very ;

(I
(11}
(11
(IV)

(A)-(Ty, (B)-(1L), (C)-(IIT), (D-(IV)
(A)-(I1D), (B)-(1D), (C)-(T), (D)-(IV)
(A)-(ID), (B)-(I1Ty, (C)-(IV), (D)-(D)
(A)-(IV), (B)-(11I), (C)-(ID), {D)-(I}

List I1
childish
concluding

conclusive

childlike



Options :

92090636857. 1
92090636858. 2
92090636859. 3
92090636860. 4

Question Number : 15 Question Id : 9209069330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks in the sentences in List | with the correct form of the adjective from List 11 :

List | List I1
(A} It'sinthe  chapter il childish
(B} Dowehave _ proof? (Il) concluding
(C) Hehasa___ enthusiasm. (IIT) conclusive
(I Her behaviour is very ___. (IV)y childlike

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(IL). (C)-(IIT), (D)-(IV)
(2) {(A)-(ILD), (By-(1), (Cy-(D), (D)-(IV)
(3 (A)-(ID, (B)-(ILIy, (Cy-(IV), (D)-(D)
(4) (A)-(IV), (B)-(IID), (C)-(ID), (D)-(1)

Options :

92090636857. 1
92090636858. 2
92090636859. 3
92090636860. 4

Question Number : 16 Question Id : 9209069331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dedicated to deciphering them.

Choose another word of the same meaning for the underlined word above,

(1) Ciphering (2) Enciphering
(3) Confounding (4) Explaining

Options :

92090636861. 1
92090636862. 2
92090636863. 3



92090636864. 4

Question Number : 16 Question Id : 9209069331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dedicated to deciphering them.

Choose another word of the same meaning for the underlined word above.

i1 Ciphering (2) Enciphering
(3 Confounding (4) Explaining

Options :

92090636861. 1
92090636862. 2
92090636863. 3
92090636864. 4

Question Number : 17 Question Id : 9209069332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rephrase the following sentence by choosing the appropriate Idiom.

She was affected by the situation when her two bosses had different ideas about what her job
involved.

(1) Caught in the crossfire (2) Caught napping
(3 Caught red-handed {4) Caught in the act
Options :

92090636865. 1
92090636866. 2
92090636867. 3
92090636868. 4

Question Number : 17 Question Id : 9209069332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rephrase the following sentence by choosing the appropriate Idiom,

She was affected by the situation when her two bosses had different ideas about what her job
invalved.

(1) Caught in the crossfire (2) Caught napping

(3 Caught red-handed (4) Caught in the act

Options :

92090636865. 1
92090636866. 2
92090636867. 3
92090636868. 4

Question Number : 18 Question Id : 9209069333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined word with the correct Antonym from the options:

One of the powerful traditions of Japanese life is to always exhibit enthusiasm against pain.

i1) Precision (2) Exuberance

(3 Stoicism {4) Satizsfaction

Options :

92090636869. 1
92090636870. 2
92090636871. 3
92090636872. 4

Question Number : 18 Question Id : 9209069333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined word with the correct Antonym from the options:

One of the powertul traditions of Japanese life is to always exhibit enthusiasm against pain,

(1) Precision (2) Exuberance

(3 Stoicism {4) Satisfaction

Options :



92090636869. 1
92090636870. 2
92090636871. 3
92090636872. 4

Question Number : 19 Question Id : 9209069334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A drug dealer or scamster could transfer large quantities of money without a bank to validate
the transaction.

Choose the Antonyvm for the underlined word.

(1) Agree (2) Confirm

(3) Give Value (4) refute

Options :

92090636873. 1
92090636874. 2
92090636875. 3
92090636876. 4

Question Number : 19 Question Id : 9209069334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A drug dealer or scamster could transfer large quantities of money without a bank to validate
the transaction.

Choose the Antonyvm for the underlined word.

(1) Agree 2y Confirm

(3) Give Value (4) refute

Options :

92090636873. 1
92090636874. 2
92090636875. 3
92090636876. 4

Question Number : 20 Question Id : 9209069335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with the correct Idiom from the options given:

The manager by talking about the bonus, much before it came in black and white.
(1) Faced the music (2)  Jumped the gun
i3 Cut no ice {4y  Blow off the steam

Options :

92090636877. 1
92090636878. 2
92090636879. 3
92090636880. 4

Question Number : 20 Question Id : 9209069335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with the correct Idiom from the options given:

The manager by talking about the bonus, much before it came in black and white.

(1} Faced the music (2) Jumped the gun
(3) Cut no ice (4) Blow off the steam

Options :

92090636877. 1
92090636878. 2
92090636879. 3
92090636880. 4

Part B
Section Id : 920906186
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80

Section Marks : 320



Enable Mark as Answered Mark for Review and Clear

Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906304
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 9209069336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who won the 2022 Nobel prize in literature?

(1) Annie Ernause (2) Alain Aspect
(3 Carolvn Bertozzi {4) Swante paabo
Options :

92090636881. 1
92090636882. 2
92090636883. 3
92090636884. 4

Question Number : 21 Question Id : 9209069336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qifee & & § 2022 F FEA [ERR FE Sty

(1)  wie ol i (2) e IR
(2) Fnifer g2t (4) T TTE
Options :

92090636881. 1
92090636882. 2
92090636883. 3
92090636884. 4

Question Number : 22 Question Id : 9209069337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Age of voting was reduced from 21 to 18 in the vear 1988. It is contained in which Artile of
constitution?

(1) Article 243 (2) Article 2464
(3) Article 326 (4) Article 3424
Options :

92090636885. 1
92090636886. 2
92090636887. 3
92090636888. 4

Question Number : 22 Question Id : 9209069337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 1988 d gaeq i 9y 21 & g2 18 6w ot 7w Afrae & e sgege d afmfee 27

(1) =% 243 (2) =9 246 3
(3)  FT=H% 326 (4) F=gE 342 A

Options :

92090636885. 1
92090636886. 2
92090636887. 3
92090636888. 4

Question Number : 23 Question Id : 9209069338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 :  Dada bhai Naoroji was one of the founders of the India National
Congress. He was the first Indian to be elected as a member of UK's

parliament.

Statement 11 :  He was also called the “Grand Old Man of India”.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement II are true
(2) Both Statement [ and Statement 11 are false
(3 Statement I is true but Statement [ is false

i(4) Statement [ is false but Statement 11 is true

Options :

92090636889. 1
92090636890. 2
92090636891. 3
92090636892. 4

Question Number : 23 Question Id : 9209069338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= gt Fom Rm e E -
wud [ gerd A, yedE osa S % sl § 8@ w4 9 wwe ywdig 9 S R g
fFerflamd s aem s 508 99 M )

wF [1: 32 “Yd # 9digg T (012 es 85 w6 HfE) & 9w @ s o
IR FYA % e 1, F19 fEu o feeed § | wed 3w w o wme difa

() #9= |3 [12eimm

() wya | 3in 1121 ame §

(3) ¥ 1 Ee 2, Fe v 1 o B

(4)  we | a2, oifed S [ a5 2
Options :

92090636889. 1
92090636890. 2



92090636891. 3
92090636892. 4

Question Number : 24 Question Id : 9209069339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List 11 -
List 1 List 11

{Provisions of constitution) {Sources of constitution)

{A) Law making procedures, (I} Constitution of former USSR
single citizenship, Bi-cameral
parliamentary

(B} Preamble, fundamental rightz (1) Constitution of Australia
and independence of
Judiciary

{C)  Fundamental Duties (I Constitution of Britain

(D} Idea of concurrent list, trade (IV) Constitution of U.S.A
and commerce provisions.

Choose the correct answer from the options given below :

(1) (A)-(IT), (B)-(ILL), (C)-(IV), (D)-(T)
(2) (A)-(D), (B)-(11), (C)=(IV), (Dy-(IIT)
(3 {A)-(IV), (B)-(), (C)-(IL), (D)-(11})
(4) (A)-(11T), (B)-(IV), (C)-(I), (D)-(11I)

Options :

92090636893. 1
92090636894. 2
92090636895. 3
92090636896. 4

Question Number : 24 Question Id : 9209069339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=11 % = g -1 =1 frem $ifaw

-1 11
AfauE % WEYE afaue % =

(A) fafa foin sfmn, e aefera () @ SifEe g9 @ alae
famedta dadm goref

(B) wemEAl, Weqa  sfusw s (D smefern @ wfaum
=rraaiierant i wEaE

(C) oA oA (1) faem = wfaum

(D) wwadi gt &1 fomm, s 3 (V) S99 oew smdte & Efaus
Ty =1 9Ey=

det feu mu famedi § & 5 T w1 =339 Fifaw

() (A, (B)-(IID), (C)-(IV), (D)-(I)
(2) (A, (B)-(ID), (C)-(IV), (D)-(LLI)
(3)  (A-IV), (B)-(D), (C)-(ID), (D)-(11D)
(4) (A, (B)-(IV), (C)-(1), (D)-(IT)

Options :

92090636893. 1
92090636894. 2
92090636895. 3
92090636896. 4

Question Number : 25 Question Id : 9209069340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mahatma Gandhi started his first Satyvagraha movement from which place of India?

i1 Sabarmati Ashram in Gujarat {2) Sevagram Ashram near Wardha

(3 Champaran in Bihar {4) Kheda Gujarat

Options :

92090636897. 1
92090636898. 2
92090636899. 3
92090636900. 4

Question Number : 25 Question Id : 9209069340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uiaey o foem @ | oeem mft 3 gEen geame sy Gen o

(1) T § wrEdt e (2) Ful % Fewe famm anem
(3)  faEm o =orm (4) wEl, T
Options :

92090636897. 1
92090636898. 2
92090636899. 3
92090636900. 4

Question Number : 26 Question Id : 9209069341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first recipient of the Bharat Ratna Award?

(1) Dr. Zabir Hussain (2) Bataya Jit Ray
(3) Rattan Tata {4) C. Rajagopalachari
Options :

92090636901. 1
92090636902. 2
92090636903. 3
92090636904. 4

Question Number : 26 Question Id : 9209069341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HA T TERR & TYH YTHh A 87

(1) =i e gie (2) wHeafaa T3
(3) T (4) #H T
Options :

92090636901. 1
92090636902. 2
92090636903. 3
92090636904. 4

Question Number : 27 Question Id : 9209069342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The first Bharat Ratna was given to three persons in 1954, the one among the three is:

(1) Rattan Tata {2) Gobind Vallabh Pant
(3 Dr. Zabir Hussian {(4) C.¥V Raman

Options :

92090636905. 1
92090636906. 2
92090636907. 3
92090636908. 4

Question Number : 27 Question Id : 9209069342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 1954 § 9yY &F YA T 9 sl = fem o, 3 AR i @ o 8

(1) =R = ot wd a (2) iferg geery 9
(3)  =f. e 789 (4) #H. wE

Options :

92090636905. 1
92090636906. 2
92090636907. 3
92090636908. 4

Question Number : 28 Question Id : 9209069343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who out of the following won gold medal for India in Common Wealth Games 20227

(1) Sarket Sagar (2) Haminder Kaur
(3) Nikhat Zareen {4) Sandeep Kumar

Options :

92090636909. 1
92090636910. 2
92090636911. 3
92090636912. 4

Question Number : 28 Question Id : 9209069343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a4 2022 % w9 oow 79 4 frofafas f @ feas yie & e =l 2= e

(1)  H¥d =R (2) s an
@ a7 (4) HaM FA
Options :

92090636909. 1
92090636910. 2
92090636911. 3
92090636912. 4

Question Number : 29 Question Id : 9209069344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First Indian Woman to climb Mount Everest twice is

(1) Bachendri Pal (2} Santhosh Yadav
(3 Anshu Jamserpa (4)  Nungshi Malik
Options :

92090636913. 1
92090636914. 2
92090636915. 3
92090636916. 4

Question Number : 29 Question Id : 9209069344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TS 9 2 410 HAE S gt vy qeAtE afgen 8

(1) &=z 9= (2) Hdm Amea
(3 9] SEHT (4) st afers
Options :

92090636913. 1
92090636914. 2
92090636915. 3
92090636916. 4

Question Number : 30 Question Id : 9209069345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Amalgamation is the merger to two or more companies when necessity

arises into a large organization.

Statement 11 :  The old firms do not lose their identity even after merger.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement II are incorrect

(3 Statement I is correct but Statement I is incorrect
i4) Statement [ is incorrect but Statement [1 is correct

Options :

92090636917. 1
92090636918. 2
92090636919. 3
92090636920. 4

Question Number : 30 Question Id : 9209069345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g [ w9 ol 92 den 8 sfedm smm & @ @ 9 o wfes sofel = e @
R 2)
FuA I1:  Faem 80 % =g ot goeft o vt e o @ 2

ITRE FY % e 1, A= v m feeed § @ wed 3w I o Twe fifa

() FEIst=AsHhE

(2) w1 afte 11 21 mom 8

(3 o Ed R, ofE e e

(4) w5 7T B, oifed wue 1158 R
Options :

92090636917. 1
92090636918. 2



92090636919. 3
92090636920. 4

Question Number : 31 Question Id : 9209069346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The CBIC (Central Board of Indirect Taxes and Customs) has exempted which of the product
from Custom Duty and Agricultural Infrastructural Development less?

(1) dute (2) Wheat

i3 Raw Cotton {4) Rice

Options :

92090636921. 1
92090636922. 2
92090636923. 3
92090636924. 4

Question Number : 31 Question Id : 9209069346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dt.df A (Fe swms = s @i g 9E) 3 B sl w d@m e s s s
woaTors famm wfusn (89) & ga @ 27

() v () 2
(3) = HE (T &) (4) ==EE
Options :

92090636921. 1
92090636922. 2
92090636923. 3
92090636924. 4

Question Number : 32 Question Id : 9209069347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Indian Bank began in 1990 when Chandra Shekhar Ghosh created a microfinance
Institution

(1) Federal Bank (2) Vijay Bank

(3 Yes Bank {4y Bandhan Bank

Options :



92090636925. 1
92090636926. 2
92090636927. 3
92090636928. 4

Question Number : 32 Question Id : 9209069347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W4 Ty IE G919 T UF HIGR GIEAE 61 S04, 79 1990 ¥ H9 6 WRdE 4 9HE g7

(1) g d= (2) faem &=
(3 T (4) o F
Options :

92090636925. 1
92090636926. 2
92090636927. 3
92090636928. 4

Question Number : 33 Question Id : 9209069348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Egg Yolk, Salam, Liver and milk are the rich sources of while Vitamin?

(1) Vitamin A (2) Vitamin B
i3 Vitamin K (4) Vitamin D
Options :

92090636929. 1
92090636930. 2
92090636931. 3
92090636932. 4

Question Number : 33 Question Id : 9209069348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

32 H1 7, met woeh, 75a A 2y few R & Ter Hw E7

(1) ffE - A (2) Fafim - B
(3 faafm - K () Fefm-D

Options :



92090636929. 1
92090636930. 2
92090636931. 3
92090636932. 4

Question Number : 34 Question Id : 9209069349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human Eye is a sensory organ which helps us to see objects. Identify the correct statements:-

(A) Inner most layer of eye is called Retina which has photo receptor cells.

(B) Photo receptor cells are of two type rods and cones. Day eight vision and colour vision
iz function of rods.

() Photo receptor cells are not present in blind spot

Dy Lens of the eve 1 a concave lens

Choose the correct answer from the options given below

(1) (A), (C) only
(2) (A), (B}, (C) only
i3 (B). (C) only
(4) (A), (D) only

Options :

92090636933. 1
92090636934. 2
92090636935. 3
92090636936. 4

Question Number : 34 Question Id : 9209069349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o i i@ U Haew 3 2| A w ges w ome § qeea s 21 a@f e s wEeEiie -
(A)  ite i gEd dial wa e wwerdt @ e e wifieend @6 )

(B) i fore Fifn 5 wer & #id E o3 3R ug) e 6 v R i I g 33 (Rods)
w1 w@ B

(C)  =rgs wie § wEfee wiftmd dag 74 @)
(D)  wfE F &6 Faaa &9 g 2

fra fou o faedi § & 8 I w5 Hifw

(1)  Fas (A) 31 (0)

(2) S (A), (B) I (C)

(3) HEw (B) 3 (O)

(4)  @F=EE (A) I (D)

Options :

92090636933. 1
92090636934. 2
92090636935. 3
92090636936. 4

Question Number : 35 Question Id : 9209069350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 28t state of India is ;

(1) Ladakh (2) Chatisgarh
(3 Jharkhand (4) Telangana
Options :

92090636937. 1
92090636938. 2
92090636939. 3
92090636940. 4

Question Number : 35 Question Id : 9209069350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WA o4 o1 28497 779 & -

(1) &M (2) BEETE
(3) FHE: (4) e

Options :

92090636937. 1
92090636938. 2
92090636939. 3
92090636940. 4

Question Number : 36 Question Id : 9209069351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who resigned as the speaker of the Lok Sabha to contest presidential elections in 1967 and
19777
(1} GV Mavalankas (2) Vihalbhai Patel
i3 Neelam Sanjiva Reddy (4) Shyama Prasad Mukherjee

Options :

92090636941. 1
92090636942. 2
92090636943. 3
92090636944. 4

Question Number : 36 Question Id : 9209069351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 1969 3 1977 § meafa 92 = g w24 & fom oireey & ofte w2 3 et s fem e

(1) . o (2) faem wd we
(3)  rem wsia wd (4) TIMET WHE g
Options :

92090636941. 1
92090636942. 2
92090636943. 3
92090636944. 4

Question Number : 37 Question Id : 9209069352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The air around Taj Mahal contains high level of sulphur and Nitrogen

oxides. As a result the monument is getting discoloured and getting lustre

less

Reasons (R) Large number of hotels and parking areas use poor quality of fuel which on

burning produce oxides resulting in acid rain, which when reacts with

marble cause damage to the wonderful monument.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
(2
(3)
(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{(A) is correct but (R) 1s not correct

{A) is not correct but (R) is correct

Options :

92090636945. 1
92090636946. 2
92090636947. 3
92090636948. 4

Question Number : 37 Question Id : 9209069352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fi= @ #om o o & vw sifier (Assertion (A)) % #9 | fafiea & @ g5 39 FH9 (Reasons
RyFETH:

Afiked (A): 9 HEG % 98 SR g § 3w e ) dew Aiged sieange waifaw 21 oo
TR T gq SR Fawda & R

Hr (R) - AR % WE-TE 3w #ee o wifdm dm wm w R oafen e e dw
Fert ITaETEE 309 w8, gt e vfie et @ 21 e T e & aeek |
et & W I T F ol e 2

IS YA % eirs d, A= fou o et § | awd 3w I W Twe i

(1) (A) 3 (R) 5F1 =& & 3 (R), (A) Fit 5t =mem 2

(2) (A 3R (R)ZHT =4 E, @ (R), (A) it = smEn T &
@ (=R R, & (R) v T R

4  (A)y=H e, afe (R w2

Options :

92090636945. 1
92090636946. 2
92090636947. 3
92090636948. 4

Question Number : 38 Question Id : 9209069353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UNFCCC is an international organization which aims to regulate:

(1) Financial Crisis in any country through international cooperation

(2) Achieve sustainable development goals

(3 The use of insecticides and pesticides through international agreement

i4) Green house gas emizsion through international cooperation and agreement

Options :

92090636949. 1
92090636950. 2
92090636951. 3
92090636952. 4

Question Number : 38 Question Id : 9209069353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4,035 #i #@ i, v s dJnea @ faew fafrfia s 21

(1) s e d fadt ot 2o 8 Gl a6

(2)  warof fawm & weg i why

(3)  FaOwTE guEid & aeEn 8§ e i Sl = owEm
(4) U wedm ud aagt % o # fi6 wse fe e

Options :

92090636949. 1
92090636950. 2
92090636951. 3
92090636952. 4

Question Number : 39 Question Id : 9209069354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of following which is not considered as a classical language by Government of India?

(1) Tamil (2} Kannada
(3 Maithili {4y Odiya
Options :

92090636953. 1
92090636954. 2
92090636955. 3
92090636956. 4

Question Number : 39 Question Id : 9209069354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feifera d | = €t v wiE SR g At a A o T 2

(1) afire (2) S
(3) e (4 fem
Options :

92090636953. 1
92090636954. 2
92090636955. 3
92090636956. 4

Question Number : 40 Question Id : 9209069355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 -

List I List I

iDance form) {State they belong)
(A} Sattriva (I Tamil Nadu
(B} EKuchipudi {IT) Assam
(Cy Mbohinivattam (I} Andhra Pradesh
(D) Bharatnatvam {IV) Kerala

Choose the correct answer from the options given below

(1) (A)-(ID), (B)-(III), (C)-(D), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (C)-(IV), (D)-(D)
(3) (A1), (B)-(IID), (C)-(IV), (D)-(T)
(4)  (A)-(IID), (B)-(D), (C)-(I1), (D)-(IV)

Options :

92090636957. 1
92090636958. 2
92090636959. 3
92090636960. 4

Question Number : 40 Question Id : 9209069355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 = =y g1 #1 fiem $ifa
g1 g1
I TEH =y Forms way 2
(A) wefen () dferg
(B) e (1) 3mm
() iz (I1T) sfivwem
(D) WEEEEn (IV) =
A= few mu Reedi § & 5 I w0 waw difi

(1) (A)-(I1), (B)-(I1L), (Cy-(D), (D)-(IV)
(2) (A)-(IID), (B)-(IT). (C)-(IV), (D)-(I}
1] (A)-(11), (B)-(I1T), (C)-(IV), (D)-(I)
(4) (A)-(I1), (B)-(1), (C)-(ID). (D)-(IV)

Options :

92090636957. 1
92090636958. 2
92090636959. 3
92090636960. 4



Question Number : 41 Question Id : 9209069356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
computer, we generally use in daily life for personal work is known as:

i1 Mani frame {2y  Work Station
(3} Micro (4} Super

Options :

92090636961. 1
92090636962. 2
92090636963. 3
92090636964. 4

Question Number : 41 Question Id : 9209069356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FOE, B AT AfeAt sfaa § e @t & fow wam w5 &)
(1) HTHm (2) T
(3) TR (49 W
Options :
92090636961. 1
92090636962. 2

92090636963. 3
92090636964. 4

Question Number : 42 Question Id : 9209069357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In MS-Outlook vour Inbox containg more than 5000 emails. Many of them are from vour
Boss and many of them contain attachments. The fastest way to find the one huge video file
is:
(1) Search on the word “video'.
() Click All, arrange by video and look for max-size
(3 Click All, arrange by Attachment, and look through the email with attachments
{43 Click All arranes hv gize and lonk at the laroest size prmail
Options :
92090636965. 1
92090636966. 2



92090636967. 3
92090636968. 4

Question Number : 42 Question Id : 9209069357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH.UH. 313 @, TR FH-aw 5000 # s {de gafee w21 gga-@ de o 9t & wm
2l & st = @ e § G a0% A 81 a2 fafed wiee & @ F daan @i

(1) T2 fafea = w5

(2) oo s, wita ot fafea i sifieem arda 2@

(3) fere fm, 3w wewwe, 3 §-Ha & mean § seaien 6

(1) forow wie wita o arda s = ada 6 -89 36

Options :

92090636965. 1
92090636966. 2
92090636967. 3
92090636968. 4

Question Number : 43 Question Id : 9209069358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following which is not a web-browser is:

i1) Firefox (2) Google
(M Obera (4) Edge
Options :

92090636969. 1
92090636970. 2
92090636971. 3
92090636972. 4

Question Number : 43 Question Id : 9209069358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frerifera & & = &1 99 s 4 2 -

o

(1) TR (2) T
(3) @ (4) ©S (Edge)



Options :

92090636969. 1
92090636970. 2
92090636971. 3
92090636972. 4

Question Number : 44 Question Id : 9209069359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one who gains unauthorized access, destrovs vital data, denies legitimate user's service
or causes problems for their targets is called:

(1) White hat hacker (2)  Programmer
i3 Database Administrator (4) Cracker
Options :

92090636973. 1
92090636974. 2
92090636975. 3
92090636976. 4

Question Number : 44 Question Id : 9209069359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fom =fd =t snfiusa vds wm 2l @ 92 el srsl 1 9= %= 3 8, 3y e fi S =R

T ® I I el % utn suand 3w o a2, 3@ AT A 2
(1)  =5e #e & (2) o
(3) =21 9w vefafree (4) T

Options :

92090636973. 1
92090636974. 2
92090636975. 3
92090636976. 4

Question Number : 45 Question Id : 9209069360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Microsoft window, different applications and documents are represented by

(1) lcons {2) Labels
(3 Symbols {4) Graphs

Options :

92090636977. 1
92090636978. 2
92090636979. 3
92090636980. 4

Question Number : 45 Question Id : 9209069360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

naR HEE 4, fim-fim ven F s (ofeEeeg) s smeEe i #

(1) HTEHRITH (2) oy
(3 faaien (4) urM

Options :

92090636977. 1
92090636978. 2
92090636979. 3
92090636980. 4

Question Number : 46 Question Id : 9209069361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assume three outlook commands vou frequently use or toggle all day long: High priority,
centre text, and High priority. How these three commands can be kept visible at all time?

(1) Add three commands to the Quick Access toolbar

(2) Add three commands to favorites

(3) Add three commands to frequently used list
(4} Usze color coding for command button.
Options :

92090636981. 1
92090636982. 2
92090636983. 3
92090636984. 4

Question Number : 46 Question Id : 9209069361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

weqal Hifau 3 fi 3w % wE ToEn Wb w0 g f e de e #) 3= mufre, e
Taae 3 3= wryfisan) 3 1 Fars fee ven 8 @ FH weg | g ol oAt # 7

(1) foors oo g1 90 i1 SuTE FiSE

(2)  dfea | i e =t 9

(3)  =roEw v o g g e s i

(4)  wure =24 = fou Fen wifEm = ggm +61)

Options :

92090636981. 1
92090636982. 2
92090636983. 3
92090636984. 4

Question Number : 47 Question Id : 9209069362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shorteut key used to immediately return to the Desktop is:

i1 Windows kev + R 2y Ctrl+R
(3 Windows Key + D 4y Ctrl+D
Options :

92090636985. 1
92090636986. 2
92090636987. 3
92090636988. 4

Question Number : 47 Question Id : 9209069362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ArhTe SERaiY T a9 B =i ot widewe B v d e s &

(1 fFEEdH+sm R (2) #HAITA (ctel) + IV (R)
@ fEmd o+ FH D) (4) HHsmus (ctel) + F (D)
Options :

92090636985. 1
92090636986. 2
92090636987. 3
92090636988. 4



Question Number : 48 Question Id : 9209069363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trojan Horse

iA) Is a malicious program
iB) Can transfer the information from infected svstem to another
() Can provide the control of your system to another

Choose the correct answer from the options given below

(1) (A). (B)
(2) (B). (C)
(3  (C)only

(4) (AL (B),(O)

Options :

92090636989. 1
92090636990. 2
92090636991. 3
92090636992. 4

Question Number : 48 Question Id : 9209069363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CECE I

(A) T fageyEl g 2

(B)  wgfta foeen & gt fien & g wwaiafa =0 @)
(C) s e o Friam Rt o =afde = oy =50 w5
=t feu M e d @ ot I W = i

(1)  (A) 3 (B)

(2 (B) 3 (C)

(3) = (0)

(4) (A, (B) #HT(O)

Options :

92090636989. 1
92090636990. 2



92090636991. 3
92090636992. 4

Question Number : 49 Question Id : 9209069364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following unit which is responsible for converting the data received from the user into a
computer understandable format?

(1) Output unit (2) Input unit
(3 Memory Unit {4) Arithmetic and Logic unit
Options :

92090636993. 1
92090636994. 2
92090636995. 3
92090636996. 4

Question Number : 49 Question Id : 9209069364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e # WH WSl & Sl § gt wie § ufEdd e &, Fenkea d @ #9 d@ gfe
Ferraeeita 27

(1) ¥ g (2) ¥ gfe

(@  =mf gfe (4) SRR ¥ afes (Logic) g

Options :

92090636993. 1
92090636994. 2
92090636995. 3
92090636996. 4

Question Number : 50 Question Id : 9209069365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the maximum speed offered by Gigahit Ethernet?

(1) 1 Mbps (2) 10 Mbps
(:3) 100 Mbps (4) 1000 Mbps



Options :

92090636997. 1
92090636998. 2
92090636999. 3
92090637000. 4

Question Number : 50 Question Id : 9209069365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

firmmamee vyt g wem tfasan ot w0 27

(1) 1 mEidies (Mbps) (2) 10 voErdies (Mbps)
(3 100 wrefidftes (Mbps) (4) 1000 vmEdtes (Mbps)
Options :

92090636997. 1
92090636998. 2
92090636999. 3
92090637000. 4

Question Number : 51 Question Id : 9209069366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of 10 persons, 9 persons spent Rs 40 each for their snacks. The tenth person spent Hs.18
more than the average expenditure of all the ten. The total money spent by all of them was:

(1)  Rs.400 (2) Rs.360
(3)  Rs.420 (4) Rs.480

Options :

92090637001. 1
92090637002. 2
92090637003. 3
92090637004. 4

Question Number : 51 Question Id : 9209069366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 =afFaal § & 0 =afaagl & a7 T | 40/ - 5. 9 =1l = ) o =fm 3 oft oo ==t 5
3itea =53 4 18/ - 5. i = fen) 37 ot safdl g0 &= fee o sm 6 e 9 oy

(1) 5400/ - (2) %.360/-
() 5.420/- (4) %.480/-
Options :

92090637001. 1
92090637002. 2
92090637003. 3
92090637004. 4

Question Number : 52 Question Id : 9209069367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The batting average for 20 innings of a cricket player iz 25 runs. The highest score in an
innings exceeds his lowest seore by 86 runs. If these two innings are excluded the average
geore of the remaining 18 innings is 24 runs. Find his highest score in an innings.

(1) 45 2y 42

(3) 77 (4 82

Options :

92090637005. 1
92090637006. 2
92090637007. 3
92090637008. 4

Question Number : 52 Question Id : 9209069367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ueh figendt &1 20 wifeat i & =1 3ia 25 = &) w8 & seem weR P = 8 86 sfias 2
ofe &1 & il § I=a9 =6 =t g2 e 9 &1 18 oifiEi =1 =6 sftee 24 = B U Ol § 3Ee
Tt TR e -

(1) 4
(3 T

(2) 42
(4) 82

=] o

Options :

92090637005. 1
92090637006. 2
92090637007. 3
92090637008. 4



Question Number : 53 Question Id : 9209069368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At what time between 7 and 8 o'clock will the hands of a clock be at right angle?

(1) 24 91l min. past 7 (Z) 20 910 min. past 7
() 18 %11l min. past 7 (4) 21 911 min. past 7

Options :

92090637009. 1
92090637010. 2
92090637011. 3
92090637012. 4

Question Number : 53 Question Id : 9209069368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

799 AR § 79 & w4 ope oma @ gf i gzai wE won wE i

(1) 7 31% fa. (2) 7 o :m% fu.

(3 7 TR 15% fa. (4) 7 T :31% f.
Options :

92090637009. 1

92090637010. 2

92090637011. 3

92090637012. 4

Question Number : 54 Question Id : 9209069369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Whal was Lhe day ol Lhe week on 141 June, 20027

(1) Thursday (2) Friday
i3 Saturday {(4) Sunday

Options :

92090637013. 1
92090637014. 2
92090637015. 3



92090637016. 4

Question Number : 54 Question Id : 9209069369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 34, 2002 HHE 1 F14 a1 feam #me

(1)  Feesfoam (2) IERATL
(3)  wfEm (4) taEm

Options :

92090637013. 1
92090637014. 2
92090637015. 3
92090637016. 4

Question Number : 55 Question Id : 9209069370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the missing number in place in the following three sub-matrices, in which the
numbers are arranged in a certain way

42 36 38
‘ 3 2 15 ‘ ‘ 3 1 9 ‘ 10 ? 20

(1) 0 (2)
() 2 (4 3

Options :

92090637017. 1
92090637018. 2
92090637019. 3
92090637020. 4

Question Number : 55 Question Id : 9209069370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foerifera 39-3mege, foll deamd fadm wem & oafids 61 7 8, #§ 7 09 W o9 g6 T W -

42 36 38
‘ 3 2 | 15 ‘ | 3 - 1 - a ‘ ‘ 10 | ? 2{}‘
6 9 18
(1) 0 (2) 1
@ 2 (4 3

Options :

92090637017. 1
92090637018. 2
92090637019. 3
92090637020. 4

Question Number : 56 Question Id : 9209069371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2«1+ 2+ = 160, then x is equal to:

(. 2 (2 6
3 5 (4 4
Options :

92090637021. 1
92090637022. 2
92090637023. 3
92090637024. 4

Question Number : 56 Question Id : 9209069371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe 2x-1 4274 — 160, 7@ x Forms Tagea 27

(1)
(3

2 6
4y 4

=L

Options :
92090637021. 1
92090637022. 2



92090637023. 3
92090637024. 4

Question Number : 57 Question Id : 9209069372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pankaj fires 6 shots, to Sameer's 2 but Pankaj can hit the balloon only once in 4 shots, while
Sameer can hit the balloon onece in 2 shots. When Sameer has missed 24 times, how many
balloons were hit by Pankaj?

{1} a2 {2y JAB

@ 42 (4) 36

Options :

92090637025. 1
92090637026. 2
92090637027. 3
92090637028. 4

Question Number : 57 Question Id : 9209069372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 6 g0 I e s 'R 3 2 96 OE % 4 9w Ree SR W 99RO 1 9E 3TEE S
wafer Gt 3 2 R A | G Sop W A SN W9 6 24 91 T T 1 Tha g feat aw dem
! e e mny

(1) 32 (2) 48

(3 42 (4) 36

Options :

92090637025. 1
92090637026. 2
92090637027. 3
92090637028. 4

Question Number : 58 Question Id : 9209069373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If x#y = 3x—2y+xy, then 3+4 + 4+3 is equal to

(1} 32 (z) 28
i3 a1 (4) 21

Options :

92090637029. 1
92090637030. 2
92090637031. 3
92090637032. 4

Question Number : 58 Question Id : 9209069373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g x+y=8x—-2y+xy T 3+4+4+3 TR B

i1) 32 (2) 28
i3 31 4y 21

Options :

92090637029. 1
92090637030. 2
92090637031. 3
92090637032. 4

Question Number : 59 Question Id : 9209069374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘P’ starts business with Rs.4500. and after 3 months ‘Q’ joins with P as his, partner. After a
vear the profit is divided in the ratio 3:4. What is 'Q’s contribution in the capital?

(1) K= 8500 (2) Rs 8000
(3 R=.9000 (4) Rs.8300
Options :

92090637033. 1
92090637034. 2
92090637035. 3
92090637036. 4

Question Number : 59 Question Id : 9209069374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

P %.4,500/ - ¥ SR 0N FaT 2 A 3 AR WEE, Q' GG Gl P % @Y {8 76 81 T a9y
30 T R 3:4 F I d =i w2, gt f Q3w Fn Em e

(1) %.8,500/- (2) %.8.000/-
() #.9.000/- (4) %.8.300/
Options :

92090637033. 1
92090637034. 2
92090637035. 3
92090637036. 4

Question Number : 60 Question Id : 9209069375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A shopkeeper sold an article at a loss of 25%. If the selling price had been increased by
Rs.200, there would have been a gain of 15%. What was the cost price of the article?

(1) Rs.500 (2) Rs.400

(3 Re=.600 {4) Rs.450

Options :

92090637037. 1
92090637038. 2
92090637039. 3
92090637040. 4

Question Number : 60 Question Id : 9209069375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U gHFen 4 AT U 9% 25% °ie | faht ) 7l foskm gew 2000 5. @5 ST q9 15% &1 049 B
FATT| T, 1 A Yol F61 U17

(1) %.500/- (2) %.400/
(3 &.600/- (4) #.450/-
Options :

92090637037. 1
92090637038. 2
92090637039. 3
92090637040. 4



Question Number : 61 Question Id : 9209069376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fresh grapes contains 76% water and dry grapes contains 20% water. How much dry grapes
can be obtained from 100 Kg of fresh grapes?

(1) 24Kg (2) 52Kg
(3) 30 kg (1) B0Kg
Options :

92090637041. 1
92090637042. 2
92090637043. 3
92090637044. 4

Question Number : 61 Question Id : 9209069376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ars IE H 76% St g & 3 g@ 3R 8 20% ¥ @A ) 100 feeim qren @ @ feen feen
qa I e fore S wed # 7

(1) 24 Feom (2) 32Fam
(9 30 Fe.om (4 80 Fr.am
Options :

92090637041. 1
92090637042. 2
92090637043. 3
92090637044. 4

Question Number : 62 Question Id : 9209069377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many kgs of wheat costing Rs.16 per kg must be mixed with 50 kg of bajra costing
Rs.10.80 per kg. so that 20% gain may be obtained by selling the mixture at Rs.14.40 per Kg?
(1) 22Kg 2 25Kg
() 15 Kg (4) 20Kg

Options :

92090637045. 1
92090637046. 2
92090637047. 3



92090637048. 4

Question Number : 62 Question Id : 9209069377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%.10.80 wfa frermm =t 50 fretm &t 4 5.16.00 v Feem ge awn Fean feamm 78 femn
s fe g fasor &6t 5. 14.40 wfofeeiom 6t o & @27 9 20% =1 @ o fe s

(1) 22 Fereiram (2) 25 fFem
(3 15 e (4) 20 Feemm
Options :

92090637045. 1
92090637046. 2
92090637047. 3
92090637048. 4

Question Number : 63 Question Id : 9209069378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A tin of oil was 4/5 full, when 10 bottles of 0il were taken out and 6 bottles of oil were poured
into it, it was 2/3 full. How many bottles of oil can the tin contain®

(1) 20 (2) 24
() a0 (4) 28

Options :

92090637049. 1
92090637050. 2
92090637051. 3
92090637052. 4

Question Number : 63 Question Id : 9209069378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o O B = o, W A 10 S I & freee o, F 3ed 6 dwe e o o
]

7w 2 g | v o e o el ded 7

() 20 2 24
(3 30 (4) 28

Options :



92090637049. 1
92090637050. 2
92090637051. 3
92090637052. 4

Question Number : 64 Question Id : 9209069379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One pipe can fill a tank four times as fast as another pipe. If together the two pipes can fill
the tank in 48 minutes, then the shower pipe alone will be able to fill the tank in

(1) 3 hours (2} 4 hours
(3 5 hours {4) 2 hours
Options :

92090637053. 1
92090637054. 2
92090637055. 3
92090637056. 4

Question Number : 64 Question Id : 9209069379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UTEY EHE OIS ® 9N A1 i ® U P & W wem 2 afe g uimy vk w da @ 4R fiee 8
#, &t Faer e iy aren ae feed g g wmy

() 3% (2) 4%

(3) 5 e (4 2%

Options :

92090637053. 1
92090637054. 2
92090637055. 3
92090637056. 4

Question Number : 65 Question Id : 9209069380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man running at 8 Km'hr, along side a railway track iz 320m ahead of the engine of a 130
meter long train running at 62 Km/hr. in the same direction. In how much time will the train
pass that running man?

(1) 32 seconds (2) 30 seconds

(3 50 seconds (4) 31 seconds

Options :

92090637057. 1
92090637058. 2
92090637059. 3
92090637060. 4

Question Number : 65 Question Id : 9209069380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wh =afa 8 Feeeidier ufy =52 &t trm @ o 2% % | 130 dte ot 39 % g | 320 . s 3
feon @ diz w1 foeemt w6 39 39 dred =fEm & et Pea Sty

(1) 32 Heprz (2) 30 H$ve
(3) 50 HevE (4) 31 #Fve

Options :

92090637057. 1
92090637058. 2
92090637059. 3
92090637060. 4

Question Number : 66 Question Id : 9209069381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of the ages of a daughter and her Mother iz 64 vears. After six years the age of the
Mother will be three times that of the Daughter. The ages of Mother & Daughter at present
are

(1 46 years, 12 years (2) 54 vears, 11 vears
(3 5l vears, 13 vears (4) 58 vears, 13 vears
Options :

92090637061. 1
92090637062. 2
92090637063. 3
92090637064. 4



Question Number : 66 Question Id : 9209069381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 3 o S R w9 64 R 6 T4 & v o o3 E @ dR o @ sneh ados |
o 3 ot < g w E

(1) 46 =4, 12 99 (2) 54a9, 11 94
(3) 5199, 1399 (4) s58ad, 1394

Options :

92090637061. 1
92090637062. 2
92090637063. 3
92090637064. 4

Question Number : 67 Question Id : 9209069382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rani lent R= 8000 to Seeta for 2 years and R=.5000 to Tina for 4 years on simple Interest at
the same rate of interest and received Rs.3600 in all from both of them an interest. The rate
of interest per annum is:

(1) 5% (Z) &%

() S (4) 10%

Options :

92090637065. 1
92090637066. 2
92090637067. 3
92090637068. 4

Question Number : 67 Question Id : 9209069382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UMl A Hflell &1 28,000/=, 2 991 & el U 31 %.5,000/ = d41 &1 4 997 & feu symo o wofo,
=19 #1 36 @ F g1 | F fiee £.3,600/ - = & 9 8 w7 wfed s g wn Eed

(1) 5% (2) 8%

(3 9% (4) 10%

Options :
92090637065. 1
92090637066. 2



92090637067. 3
92090637068. 4

Question Number : 68 Question Id : 9209069383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PQRS is a parallelogram and M is any point with in it. If the area of the parallelogram PQRS
iz 40 Units, then what is the sum of the areas of the ASMRE and APMG?

(1) 15 (2) 20

@ 25 (4) 30

Options :

92090637069. 1
92090637070. 2
92090637071. 3
92090637072. 4

Question Number : 68 Question Id : 9209069383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PQRS u% woiat =qde # 3 3@% waam § M uw fag B1 3R s =@ds PQRS @1 dewet
40 7fz &, 78 A SMR 3 A PMQ % #%a &1 30 #01 #m7?

(1) 1
i3) 2

(2) 20
4y 30

En on

Options :

92090637069. 1
92090637070. 2
92090637071. 3
92090637072. 4

Question Number : 69 Question Id : 9209069384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 60 students, 70% students pass in maths and 60% pass in English. What is the
minimum percentage of students who pass in both the papers:

(1)  50% (2)  40%

(3 0% (4) 20%

Options :
92090637073. 1



92090637074. 2
92090637075. 3
92090637076. 4

Question Number : 69 Question Id : 9209069384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wh e o 60 foemff 2, nftre d 700 Fremeff swid ait siieh § 60% =it #n &) Rt =1 =mem
i @0 2 =01 T g1 et 6 3=l )
(1)  50% (2) 40%
(3) 30% (4) 20%

Options :

92090637073. 1
92090637074. 2
92090637075. 3
92090637076. 4

Question Number : 70 Question Id : 9209069385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shaded region represents: (Given A, B, C circles represents lawyers, doctor and judges
respectively).

B
Doctors

(1) Lawyers and Doctors

(2 Doctors and Judges

(3) Lawwers and Judges
i4) Judges who are lawyers as well as Doctors
Options :

92090637077. 1
92090637078. 2
92090637079. 3



92090637080. 4

Question Number : 70 Question Id : 9209069385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grafaa wfafifom & & - fow m A, B, € 99 #ow: wfafifum w0 @ & sifugen, fofeers sin
=grardfie =1

(1)  wfirem i fafemes
(2) Tofems i =mnda
(3) e i =g
(4) = St fR sl & ay-my i

Options :

92090637077. 1
92090637078. 2
92090637079. 3
92090637080. 4

Question Number : 71 Question Id : 9209069386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Set A represents girls of class eight, set B represents boys of class eight, set C represents
students of class eight, The diagram which correctly represents A B and C as:

(1) AUDB=C 2 AnNDb=C

@ AUBNCO)=C (4 AUBUC#C

Options :

92090637081. 1
92090637082. 2
92090637083. 3
92090637084. 4



Question Number : 71 Question Id : 9209069386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He A sl wen 6 afereman & wfaffus s 2, #2 B smedi s & et @ afafiaea s 2,
2 O — a1 = & il = ofafafus = 2) s & offs =9 8 A, B 3in C =1 vfafafus
Faa 2 -

() AuB=C () AnB=C
(3 Au(BnC)=C () AuBuUC=C

Options :

92090637081. 1
92090637082. 2
92090637083. 3
92090637084. 4

Question Number : 72 Question Id : 9209069387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are 12 intermediate bus stops between two places A and B. In how many ways can a
buz be made to stop at 4 of these 12 intermediate bus stops provided no two of them are
consecutive?

(1) 108 (2) 63
(3 126 (4) 252
Options :

92090637085. 1
92090637086. 2
92090637087. 3
92090637088. 4

Question Number : 72 Question Id : 9209069387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A3 B2 = & = 12 95 =i &) feah v 8 12 59 =iy 99 g £, 390 4 92 99 55 g1
& g Fr = o 2 wave w4 &

(1) 108 {(2) 63

(3) 126 (4) 252

Options :
92090637085. 1



92090637086. 2
92090637087. 3
92090637088. 4

Question Number : 73 Question Id : 9209069388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ten points are marked on a straight line and 11 pointz are marked on another parallel
straight line. How many trianglez can be constructed with vertices among the above points?

(1) 9900 (2) 1100
(3 1045 (4) 1054
Options :

92090637089. 1
92090637090. 2
92090637091. 3
92090637092. 4

Question Number : 73 Question Id : 9209069388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oA i fafa fom o & v d@ft v w3k 11 = e fee m ol seeim i W) s
i & & | wiw & oy Feae Feew e e o 5 &)

(1) 9900 (2) 1100
(3 1045 4) 1054
Options :

92090637089. 1
92090637090. 2
92090637091. 3
92090637092. 4

Question Number : 74 Question Id : 9209069389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Area of a circular pond is 616 m® At the centre of the pond a circular stage is made whose
radius in equal to half of the radius of the pond. The area where in water in present is:

(1) 562 8g. m (2) 458 83g. m
(3 231 8. m (4) 4862 8g. m

Options :



92090637093. 1
92090637094. 2
92090637095. 3
92090637096. 4

Question Number : 74 Question Id : 9209069389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U GATER GT6TE 1 %A 616 m? 1 deE & % ° vk garen ga Fofn s &, s g0 aems &
o H I B 98 faker gard el R e I

(1) 562 8q. m (2) 4585q.m
(3 23158g. m (4) 462 5q. m

Options :

92090637093. 1
92090637094. 2
92090637095. 3
92090637096. 4

Question Number : 75 Question Id : 9209069390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In what ratio must water be mixed with milk to gain 30% by selling the mixture at cost price;

(L} 2:5 (2) 1:5
(3 3:10 (4) 2:9

Options :

92090637097. 1
92090637098. 2
92090637099. 3
92090637100. 4

Question Number : 75 Question Id : 9209069390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fore s § gy § S femin o 399 fayw &) 499 3 o e #1 30% w9 W #)

() 2:5 (2 1:5
(3 3:10 (4 2:9

Options :



92090637097. 1
92090637098. 2
92090637099. 3
92090637100. 4

Question Number : 76 Question Id : 9209069391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B, D, E, F and L have different weights. E is heavier than D but lighter than B. L is heavier
than F but lighter than D). The heaviest one is:

(1) L 2y B

@ D 4) F

Options :

92090637101. 1
92090637102. 2
92090637103. 3
92090637104. 4

Question Number : 76 Question Id : 9209069391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BDEFskLmfm-fmwmdEDawigfrgBaemwme LFawidafeg D4
Zoh] | Hailas wilt S @ 27

(1) L 2 B
(2 D 4 P

Options :

92090637101. 1
92090637102. 2
92090637103. 3
92090637104. 4

Question Number : 77 Question Id : 9209069392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following Diagram, Boys who are not athletes but are disciplined are indicated by
which number?

— Boys O —— Athlafics

/_ll — Girls [_] — Disciplined

(1) Both 1 and 10 (2) Zonly
(H 1 only {(4) Bothland?2

Options :

92090637105. 1
92090637106. 2
92090637107. 3
92090637108. 4

Question Number : 77 Question Id : 9209069392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTiie MU Wi § S e wadt a8 & e sfaa @ fe den 4 il 2

/| — e [] — srgier

(1) 1 31 10 M (2) Hae 2
(3)  FEE 1 (4) 1323

Options :

92090637105. 1
92090637106. 2
92090637107. 3
92090637108. 4



Question Number : 78 Question Id : 9209069393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If Sita is at the east of Mala : Mala iz at the North of Sapna and Sapna is at the North of
Shobha. Find the position of Sita with respect to Shobha
(1) South-west {2y North-East
(3 North-west (4) South-East

Options :

92090637109. 1
92090637110. 2
92090637111. 3
92090637112. 4

Question Number : 78 Question Id : 9209069393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe e aren & 94 § 2, Oren @1 & I G ¥ 3R 9o, o % I A ) oo & w@ed o e 6 faaf
&1 g1 T -

(1)  efam-frem @ Tw-H
()  Fw-afFEm (4) efem-gd

Options :

92090637109. 1
92090637110. 2
92090637111. 3
92090637112. 4

Question Number : 79 Question Id : 9209069394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On a stage Suman, Neeraj ,Pankaj, Vinay and Vikram are standing in the north direction as
deseribed below.

i MNeeraj is south of Vinay

(1T} Suman is south of Neeraj

(III}y Pankaj iz west of Vinay

IV  Vikram iz North of Suman

Who iz the extreme west ?

(1) Vikram
(2) Pankaj
() Suman
i(4) Vinay

Options :

92090637113. 1
92090637114. 2
92090637115. 3
92090637116. 4

Question Number : 79 Question Id : 9209069394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wek o o 3w fewn & gem, Aws, 9w, faan st feen F= fae e freongen w2 &
(D) Hira, fama & 2fgm 4 2

(1) g, F0a % efgm § &)

(Il v==, fasg = ofyan o 2)

(Iv) feshm, 59 & I d 2

ot ofrem d #4217
(1) fersen

(2) Fept

() HqH4

4y fam

Options :

92090637113. 1
92090637114. 2
92090637115. 3
92090637116. 4

Question Number : 80 Question Id : 9209069395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which word can not be formed by using the letters from the given word GEMDISTIONARY?

(1) MEGASITY (2) RESTARTED
(3 STAR {4y GAME
Options :

92090637117. 1
92090637118. 2
92090637119. 3
92090637120. 4

Question Number : 80 Question Id : 9209069395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T 7% GEMDISTIONARY 2 - SHe1 3941 & $90 | =i H1 15 781 a1 Hehdl 27

(1) MEGASITY (2) RESTARTED
i3) STAR (4 CGAME
Options :

92090637117. 1
92090637118. 2
92090637119. 3
92090637120. 4

Question Number : 81 Question Id : 9209069396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Complete the following number series. 1, 8, 27, 64, 125, 216, _......

(1) 256 (2) 343
i3 365 (4) 400
Options :

92090637121. 1
92090637122. 2
92090637123. 3
92090637124. 4

Question Number : 81 Question Id : 9209069396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

freifea 3 gaen =1 f +i:
1, 8, 27, 64, 125, 216........

(1) 256 (2) 343
(3) 365 (4) 400

Options :

92090637121. 1
92090637122. 2
92090637123.3
92090637124. 4

Question Number : 82 Question Id : 9209069397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find odd one out in the given series. 2, 3, 5, 8, 11, 26, 23, 105

i1 11 (2) 23
i) 105 (4) 8

Options :

92090637125. 1
92090637126. 2
92090637127. 3
92090637128. 4

Question Number : 82 Question Id : 9209069397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l T gEen § g # e 7 HH -

2,3, 5 8 11, 26, 23, 105

i1) 11 2y 23
i3) 105 (4)

Options :

92090637125. 1
92090637126. 2
92090637127. 3
92090637128. 4



Question Number : 83 Question Id : 9209069398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Answer the following question based on the information given below.
iA) ‘P means P is father of Q

iB) P-C) means ‘P is sister of @

(i P+ means P iz mother @

iy P} means ‘P is brother of Q

Then B+DxM=N, how is M related to B

{1) Grand Father

{2) Son

(3) Grandson

(4) Grandmother

Options :

92090637129. 1
92090637130. 2
92090637131. 3
92090637132. 4

Question Number : 83 Question Id : 9209069398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St & mE Tt & R o e g @ e d -
(A)  PxQ wuR Q& P T 2

(B)  P-q ¥l Q P g R

(C) P+Q wylq 'Q & P uma 21

(D) P=Q g Q& P i R

74 — B+DxM=N, ffs v & M wafiq 2 B #

(1) AT
(2) Rl
(3) UIE |
(4) @/
Options :

92090637129. 1
92090637130. 2
92090637131. 3
92090637132. 4



Question Number : 84 Question Id : 9209069399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a group a 40 people, 25 speak English and 20 speak both Hindi and English. All the people
speak at least one of the two language. How many people speak Hindi?

(1) 15 (2 20

() 25 (4) a0

Options :

92090637133. 1
92090637134.2
92090637135. 3
92090637136. 4

Question Number : 84 Question Id : 9209069399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

40 ST = T FUE 4 25 IS ged & 310 20 fadt s gl urend gt &) @t om g wwsAi 0 |
F H FA UF W qieid 21 fFa am s | 4

(1) 15 () 20

() 25 4) 30

Options :

92090637133. 1
92090637134. 2
92090637135. 3
92090637136. 4

Question Number : 85 Question Id : 9209069400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On which day Ajay went to Delhi if week starts on Monday
Statements

[. Ajay took leave on Wednesday
II. Suresh went to Delhi the next dav of the day his mother came to his house

I11. Suresh’'s mother came to his house neither on Monday nor Friday

{1} II wnd II1

(2) I and I1

(3) I11 and I

{4) Even I, Il and III together are not sufficient

Options :

92090637137. 1
92090637138. 2
92090637139. 3
92090637140. 4

Question Number : 85 Question Id : 9209069400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o fe7 srm feeeft o, o wome deEm 8 sy & 2

W [~ AW | uuw e gl oft o)
- g et st o 3 9 s & smmdt feaa)
[11 — Hto 1 O 3655 =0 A & aian 3 T @ e R )

(1) 11 3 111
(2) I #HR 11
(3 111 =it

(4) =8 = f6 L 11 38 11 v |1y waie =84 2

Options :

92090637137. 1
92090637138. 2
92090637139. 3
92090637140. 4

Question Number : 86 Question Id : 9209069401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Region showing educated employed but not confirmed in job is

9 «— Employed

Educated Confirmed in Job
(1) A
(2 B.D
(3 AB,C
(4y A C

Options :

92090637141. 1
92090637142. 2
92090637143. 3
92090637144. 4

Question Number : 86 Question Id : 9209069401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& it quian 2: fofia, sdurd fhg st Seht a5 -

\W
S

—

() A

(2) B D
3 ABRLO
() AC

Options :

92090637141. 1
92090637142. 2
92090637143. 3
92090637144. 4

Question Number : 87 Question Id : 9209069402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In a certain language MINERAL is coded RSTUVWZ and Sound is coded as FGHIJ then how
REATIER will he eoded-

(1) VWASTU
(2) WXYZAD
(3 VUWIOV
(4) UVWXYZ

Options :

92090637145. 1
92090637146. 2
92090637147. 3
92090637148. 4

Question Number : 87 Question Id : 9209069402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fo w8 @Fs w1 RSTUVWZ & ¥9 § $eag e 3 2 3t wf #t FGHL % ¥9 § $26g @
qTad &l fedg Bl 7
(1) VWASTU
(2)  WXYZAD
(3)  VUWJUV
(4) UVWXYZ

Options :

92090637145. 1
92090637146. 2
92090637147. 3
92090637148. 4

Question Number : 88 Question Id : 9209069403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P iz Qs brother. R is 's mother. S is R's father. T is 8's mother. Then, how is P related to 87

(1) Grandfather
(2) Grandmother

(3) Son
i4) Grand son
Options :

92090637149. 1
92090637150. 2



92090637151. 3
92090637152. 4

Question Number : 88 Question Id : 9209069403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P-Q &1 Wi #1 R-Q 1 9@, S-R =1 fomn, T-8 it wren @ @@ P-S = fgmn =71 27

(1) g1/ (2) T/
@ T (4) O /=

Options :

92090637149. 1
92090637150. 2
92090637151. 3
92090637152. 4

Question Number : 89 Question Id : 9209069404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If in a certain code’ [ will work hard’ iz written as ‘=il nil ma yo', ‘hard work pays’ iz written as
nil ga yo and 'T work smartly’ is written as ‘po nil ma *, then what is the code word for ‘hard™?

(1) ¥o

(2Z) nil

3  po
(4) ma
Options :

92090637153. 1
92090637154. 2
92090637155. 3
92090637156. 4

Question Number : 89 Question Id : 9209069404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TF TE &+ HE 98 ¥ ‘T will work hard’ ¥ ‘sil nil ma yo’ 5@ T 8, ‘hard work pays’ 1 ‘nil ga
yo' @ T 8 3R T work smartly’ %1 “po nil ma’ fo7&@1 701 2, 91 hard’ &1 $IE 98 71 #7

(1) yo
(2) nil
(3) po
(4) ma
Options :

92090637153. 1
92090637154. 2
92090637155. 3
92090637156. 4

Question Number : 90 Question Id : 9209069405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Complete the following letter series ELFT, GLHT,-...MLNT

(1) OLPT

(2) LLMT
() KLMT
(4) KLLT

Options :

92090637157. 1
92090637158. 2
92090637159. 3
92090637160. 4

Question Number : 90 Question Id : 9209069405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ELFT, GLHT, ...... MLNT
(1) OLpPT
(2) LLMT
(3 KLMT
i(4) KLLT
Options :

92090637157. 1
92090637158. 2



92090637159. 3
92090637160. 4

Question Number : 91 Question Id : 9209069406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the given conclusions logical by follows the given two statements
Statements:
..'ﬂi.].]. |.|L'Il-."‘ Hie IlL"I'\"-\'."PElIJL'I' &Jlll'_' IIEW S PEiPL‘I' B U .\‘J"J (=1 ]5 Lreee,
Conclusions:

[ Some pens are tree

(11} Some Newspaper are tree,

Choose the correct answer from the options given below -
(1) Only conclusion 1 follow
(2 Only conclusion 11 follow
(3 Either I or IT follow
i4) Neither I nor 11 follow
Options :
92090637161. 1
92090637162. 2
92090637163. 3
92090637164. 4

Question Number : 91 Question Id : 9209069406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= few o Pt 4 & w5 m @S w9 @ i e S S 1 AgE w2
wft 93 FurEn 0= 2

F% HAMER T F1 2

1§ w1 3w 74 &

Foreepd

I. 5%y #

[l %% 99<R T 98 &

#r= fgu o fawett § 7 wEE Iugw I W =9 fifa

(1)  whas Fewd | - sgEm
(2)  aw Fred 11 - s
(3) 1 Fgan [ = of e
(4)  Fa 178 1 31gm
Options :
92090637161. 1
92090637162. 2
92090637163. 3
92090637164. 4

Question Number : 92 Question Id : 9209069407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select a figure from the given four alternatives, which when placed in the blank space of
problem figure would complete the pattern

Problem figure:
IZIE

Answer figures

(a) (b) (c) (d)
i1) (a)
(2) (b)

(3) (o
4y (d

Options :

92090637165. 1
92090637166. 2
92090637167. 3
92090637168. 4

Question Number : 92 Question Id : 9209069407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fou m famredi & & U= s =9 W, A e e wfw s % e wm w @ o vfees i e -

N
I%E

I HNE

(a) (b) (c) (d)
(1) (a)
(2) (b)

(3 ic)
i4) (d)

Options :

92090637165. 1
92090637166. 2
92090637167. 3
92090637168. 4

Question Number : 93 Question Id : 9209069408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of words that shows the came relationship as given in the question
clay: potter : pots

(1) Doctor : injection : pills.

(2) cloth: tailor: clothes

(3 Black-board: chalk teacher

(4) Electricity: Bulb: light,

Options :

92090637169. 1
92090637170. 2
92090637171. 3
92090637172. 4

Question Number : 93 Question Id : 9209069408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
1&g HYE g4 o e o fem mn o guten 2 -

firdt - = - =

(1)  =fae - g -~ et (2) 92 - oA - FI2
(@) = - 9% - e (1) TR - 7vm - w
Options :

92090637169. 1
92090637170. 2
92090637171. 3
92090637172. 4

Question Number : 94 Question Id : 9209069409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A lady said, ‘this person is my grandfather’s only son's daughter'. How is the lady related to
the person:

(1) Mother

(2) Aunt

(3 Cousin

i(4) Sister

Options :

92090637173. 1
92090637174. 2
92090637175. 3
92090637176. 4

Question Number : 94 Question Id : 9209069409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Higen 4 ww 4 wfE g ot % vwwm g3 f it 21 38 ofeen = 38 w9 %y wn faa 2

(y = (2) nd
(3)  wad (4 =&
Options :

92090637173. 1
92090637174. 2
92090637175. 3
92090637176. 4



Question Number : 95 Question Id : 9209069410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement: drastic increasze in pollution is now a global phenomenon.
Assumptions

(I) Growing population, industres highways and congtructions are beyvond control

(I} All countries have realized it and working towards the control.

(1) If only I is implicit

(2) If only I is implicit

(3) If neither I nor I is implicit
{4) If both I and 11 an implicit

Options :

92090637177. 1
92090637178. 2
92090637179. 3
92090637180. 4

Question Number : 95 Question Id : 9209069410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o v 8§ vz afy wm v s gw 2

A

() =gt saen Fam-ud, gdd 3t va= Fofn G & a2
(I =ft 5ol 3 29 oees R ol s e w sEE &)

(1)  Faa 1 o= 2|

() e 1l 3w

(3) A I TE I e 2
(4 a1 3 11 3w 2

Options :

92090637177. 1
92090637178. 2
92090637179. 3
92090637180. 4

Question Number : 96 Question Id : 9209069411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Going 100m to the north of her house, Charu terms left and goes another 40m. Then turning
to the south she goes 50m and then starts walking to her house. In which direction is she
working now?

(1) North

(2) West

(3 South-West

(4) South-East

Options :

92090637181. 1
92090637182. 2
92090637183. 3
92090637184. 4

Question Number : 96 Question Id : 9209069411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7% A W H 100 e I B A e 5 S g e 2 sl 40 e Seh B, fe efaw 6 aw
0z 9t B, 50 et Serdt B, 36 916 I W H 30T 2o entdt 21 39 98 foem fom d w27

(1) W (2) dfFsm
(3)  efem-gfFam (4) efto g
Options :

92090637181. 1
92090637182. 2
92090637183. 3
92090637184. 4

Question Number : 97 Question Id : 9209069412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the below mentioned gquestion, two statements and two conclusions | and I are given
Chonse one of the following anewer that you think is eoreect given after the statement and

conclusion.
Statement- All gardens are schools. All schools are colleges.
Conclusions. | — All gardens are colleges

I1- Some gardens are not colleges

Ohplion
(1} only conclusion | follows
(2) only conclusion I1 follows

(3 both 1 and I follows
i4) neither | nor 1 follows

Options :

92090637185. 1
92090637186. 2
92090637187. 3
92090637188. 4

Question Number : 97 Question Id : 9209069412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fefrmomddsm s P I I Rom ) Ffean d e w s = =l &t F
s fram & fom e wem afh freed & G wdt s 2

A 1 ;. oft e oma )
11 . wft =pe Fica &)

fremd 1 . wft of= Fiew €
I : o of= e o &)

e

(1)  ae fd [ 1 saem e 2
(2) e P 110 3o S 2
(3) @1 1 3 11 1 3Te e R
(4 A =E I 3ETeE S 2

Options :

92090637185. 1

92090637186. 2

92090637187. 3

92090637188. 4



Question Number : 98 Question Id : 9209069413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ram, Sham Pinki, Naresh, Mita Mahesh are sitting in a row facing north. Pinki is the
neighbor of sham and Laxmi, Naresh is 4t to the right of Mahesh. Mita is the immediate
right of Naresh. Who are the left of Pinki?

(1) Laxmi, Naresh, Mita and Ram

(2) Malesh and Shean

(3 Mahesh, Sham and laxmi

(4) Sham and Mita

Options :

92090637189. 1
92090637190. 2
92090637191. 3
92090637192. 4

Question Number : 98 Question Id : 9209069413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mm, s, fEf, wef, Swm, dm i me awE g 88 &) R, o afh Seh i oZea R T
TR & o dry &1 e, T faewe o st #)

fieft % =i 3w = 2

(1) wef, T, da sk (2) mEm 3wy
(3 =Em, we AR aed (4) =T 3 dE
Options :

92090637189. 1
92090637190. 2
92090637191. 3
92090637192. 4

Question Number : 99 Question Id : 9209069414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ram, Sham Pinki, Naresh, Mita Mahesh are sitting in a row facing north. Pinki is the
neighbor of sham and Laxmi, Naresh is 4t to the right of Mahesh. Mita is the immediate
right of Naresh. Who are the left of Pinki?

i1 Laxmi, Naresh, Mita and Ram

(2 Madiesh and Shamn

(3 Mahesh, Sham and laxmi

i4) Sham and Mita

Options :

92090637193. 1
92090637194. 2
92090637195. 3
92090637196. 4

Question Number : 99 Question Id : 9209069414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ABCDETF G HES wingmemrd R HiBcsmDsmada i HE
% &iE 30 g o A % ot e fgfm B CLA s G F o i B oih E vs gt % ame w43 &
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Options :

92090637193. 1
92090637194. 2
92090637195. 3
92090637196. 4

Question Number : 100 Question Id : 9209069415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the minimum number of straight lines required to make the given figure

(1 11 2 14
(4] 16 (4 17

Options :

92090637197. 1
92090637198. 2
92090637199. 3
92090637200. 4

Question Number : 100 Question Id : 9209069415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& sl T § e R it s i s Aty

(1 11 (2) 14
(3) 16 4y 17

Options :

92090637197. 1
92090637198. 2
92090637199. 3
92090637200. 4



